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Épreuve	
  d’histoire-­‐géographie	
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PREMIÈRE	
  PARTIE	
  
	
  
1) En	
  1989	
  tombe	
  le	
  mur	
  de	
  Berlin,	
  séparant	
  Berlin	
  en	
  deux	
  zones	
  depuis	
  1961.	
  La	
  chute	
  du	
  mur	
  de	
  

Berlin	
  marque	
  une	
  première	
  étape	
  dans	
  la	
  réunification	
  de	
  l’Allemagne,	
  mais	
  surtout,	
  constitue	
  
un	
   symbole	
  utilisé	
  par	
   les	
  Américains	
   comme	
  par	
   les	
   Soviétiques	
  depuis	
   le	
  début	
  de	
   la	
  Guerre	
  
Froide,	
   puisque	
   la	
   ville	
   est	
   divisée	
   en	
   zones	
   d’occupation	
   depuis	
   la	
   fin	
   de	
   la	
   Seconde	
   Guerre	
  
mondiale.	
  	
  

	
  
2) L’Afrique	
   subsaharienne	
   (anciennement	
   AOF	
   et	
   AEF)	
   est	
   devenue	
   indépendante	
   grâce	
   à	
   des	
  

acteurs	
  politiques	
  comme	
  Senghor	
  ou	
  Houphouët	
  Boigny	
  dans	
   la	
  mise	
  en	
  place	
  d’un	
  processus	
  
pacifique	
  de	
  décolonisation	
  par	
  la	
  France.	
  

>	
  Les	
  élèves	
  ayant	
  traité	
  la	
  question	
  facultative	
  consacrée	
  à	
  Senghor	
  peuvent	
  développer	
  ce	
  point.	
  
	
  
3) Le	
  régime	
  de	
  la	
  Ve	
  République	
  a	
  été	
  mis	
  en	
  place	
  en	
  1958	
  par	
  Charles	
  De	
  Gaulle.	
  D’abord	
  conçu	
  

comme	
  un	
  régime	
  parlementaire	
  où	
  le	
  président	
  est	
  élu	
  au	
  suffrage	
  universel	
  indirect,	
  le	
  régime	
  
évolue	
   vers	
   un	
   régime	
   plus	
   présidentiel	
   à	
   partir	
   de	
   1962,	
   avec	
   l’instauration	
   de	
   l’élection	
   du	
  
président	
  au	
  suffrage	
  universel	
  direct.	
  On	
  qualifie	
  alors	
  le	
  régime	
  de	
  régime	
  semi-­‐présidentiel,	
  où	
  
le	
  parlement	
  peut	
  avoir	
  plus	
  ou	
  moins	
  de	
  pouvoir,	
  notamment	
  en	
  période	
  de	
  cohabitation.	
  

	
  
4)	
  La	
  France	
  rayonne	
  dans	
  le	
  monde	
  grâce	
  à	
  sa	
  ZEE	
  (environ	
  10	
  millions	
  de	
  km2)	
  et	
  grâce	
  à	
  sa	
  langue	
  
(284	
  millions	
  de	
  locuteurs).	
  
>	
  On	
  peut	
  aussi	
  citer	
  sa	
  puissance	
  diplomatique	
  (ONU)	
  ou	
  militaire.	
  
	
  
5)	
   Une	
   FTN	
   est	
   une	
   Firme	
   TransNationale	
   ayant	
   au	
  moins	
   une	
   unité	
   de	
   production	
   dans	
   un	
   pays	
  
étranger.	
  Exemple	
  :	
  Apple.	
  
	
  
6)	
  CARTE	
  
	
  
Deux	
  mégalopoles	
  :	
  	
  
Figuré	
  linéaire,	
  mégalopole	
  européenne	
  et	
  mégalopole	
  américaine.	
  
	
  
Une	
  puissance	
  émergente	
  :	
  
Figuré	
  de	
  surface	
  (couleur	
  vive)	
  
CHINE	
  
	
  
Un	
  territoire	
  en	
  marge	
  de	
  la	
  mondialisation	
  
Figuré	
  de	
  surface	
  (couleur	
  terne)	
  
CORÉE	
  DU	
  NORD	
  
	
  
	
  
SECONDE	
  PARTIE	
  
	
  
SUJET	
  1	
  



	
  
	
  
1) Le	
  contexte	
  médiatique	
  a	
  évolué	
  ces	
  dernières	
  années,	
  notamment	
  en	
  raison	
  de	
   l’évolution	
  du	
  

paysage	
  médiatique	
  et	
  de	
   l’apparition	
  des	
   réseaux	
  sociaux	
   (l.	
  4)	
  mais	
  aussi	
  de	
   l’évolution	
  de	
   la	
  
constitution	
  avec	
  l’instauration	
  du	
  quinquennat	
  en	
  2000	
  (l.	
  2).	
  Ainsi,	
  le	
  président	
  et	
  son	
  élection	
  
occupent	
  davantage	
  l’espace	
  médiatique.	
  

	
  
2)	
   Les	
   candidats	
   se	
   font	
   face,	
   ce	
   qui	
   rappelle	
   le	
   traditionnel	
   clivage	
   de	
   la	
   vie	
   politique	
   française	
  
(Hollande	
  est	
  à	
  gauche	
  pour	
   les	
   téléspectateurs,	
  Sarkozy	
  à	
  droite).	
  Cela	
   rappelle	
  aussi	
   la	
  nature	
  du	
  
scrutin,	
  qui	
  est	
  uninominal.	
  On	
  élit	
  une	
  personne.	
  Les	
  journalistes	
  font	
  figure	
  d’arbitre.	
  
	
  
3)	
   Le	
   CSA	
   fait	
   respecter	
   des	
   valeurs	
   et	
   l’égalité	
   entre	
   les	
   candidats,	
   afin	
   de	
   permettre	
   à	
   chaque	
  
candidat	
  de	
  participer	
  équitablement	
  au	
  débat.	
  
	
  
4)	
  En	
  France,	
  l’élection	
  du	
  PR	
  est	
  un	
  événement	
  médiatique.	
  En	
  effet,	
  le	
  caractère	
  du	
  scrutin	
  favorise	
  
les	
  oppositions	
   télévisées	
  entre	
   les	
   candidats.	
  Ainsi,	
   les	
  débats	
   sont	
  des	
  moments	
   très	
  attendus	
  et	
  
parfois	
  cruciaux	
  (comme	
  en	
  2017)	
  de	
  l’élection.	
  De	
  plus,	
  les	
  médias	
  sont	
  les	
  garants	
  de	
  cette	
  équité	
  
entre	
  des	
  candidats	
  très	
  nombreux.	
  C’est	
  parfois	
  le	
  seul	
  moyen	
  pour	
  certains	
  petits	
  candidats	
  d’être	
  
entendus	
  par	
  une	
  large	
  population	
  sans	
  avoir	
  à	
  faire	
  de	
  publicité.	
  
	
  
SUJET	
  2	
  	
  
	
  
1)	
  Les	
  arguments	
  avancés	
  par	
  L.	
  Slimani	
  sont	
   les	
  suivants.	
  L’IVG	
  correspond	
  à	
  une	
  demande	
  sociale	
  
jusque-­‐là	
  pas	
  entendue	
  (l.1	
  du	
  paragraphe	
  3),	
  qui	
  pousse	
  les	
  femmes	
  à	
  agir	
  dans	
  la	
  clandestinité	
  (l.	
  3)	
  
et	
  renforce	
  l’impossibilité	
  pour	
  les	
  femmes	
  de	
  s’émanciper	
  (l.	
  7),	
  alors	
  qu’elles	
  ont	
  obtenu	
  des	
  droits	
  
au	
  niveau	
  politique	
  depuis	
  1944.	
  
	
  
2)	
  On	
  peut	
  distinguer	
  au	
  moins	
  trois	
  catégories	
  :	
  le	
  rôle	
  de	
  la	
  femme	
  dans	
  la	
  famille	
  qui	
  évolue	
  et	
  qui	
  
tend	
  vers	
  plus	
  d’égalité	
  entre	
  les	
  hommes	
  et	
  les	
  femmes	
  (1967,	
  1970,	
  1975,	
  1982,	
  2006…),	
   la	
  place	
  
des	
   femmes	
  dans	
   le	
  monde	
  du	
   travail	
   (1965,	
  1972,	
  1983,	
  1992…)	
  et	
  enfin	
   la	
  place	
  des	
   femmes	
  en	
  
politique	
  (2000,	
  2011,	
  2014…)	
  
	
  
3)	
  Le	
  parcours	
  de	
  S.	
  Veil	
  est	
  exceptionnel,	
  puisqu’elle	
  est	
   issue	
  d’une	
  génération	
  qui	
  est	
  née	
  avant	
  
même	
  que	
  les	
  femmes	
  aient	
  le	
  droit	
  de	
  vote	
  et	
  avant	
  que	
  les	
  femmes	
  soient	
  réellement	
  émancipées.	
  
	
  
4)	
  L.	
  Slimani	
  admire	
  S.	
  Veil	
  pour	
  la	
  force	
  de	
  son	
  engagement,	
  après	
  sa	
  déportation	
  à	
  Auschwitz,	
  tant	
  
pour	
  l’Europe	
  que	
  pour	
  le	
  droit	
  des	
  femmes.	
  
	
  
5)	
  
>	
   Possibilité	
   de	
   reprendre	
   le	
   classement	
   établi	
   en	
   question	
   2),	
   en	
   retenant	
   certains	
   éléments	
  
significatifs	
  et	
  en	
  liant	
  avec	
  le	
  document	
  consacré	
  à	
  S.	
  Veil.	
  
>	
   Possibilité	
   d’ouvrir	
   sur	
   les	
   combats	
   qui	
   restent	
   à	
   mener	
   pour	
   les	
   femmes	
   en	
   France	
   et	
   dans	
   le	
  
monde.	
  	
  
	
  
SUJET	
  3	
  
	
  
1) La	
   City	
   est	
   qualifié	
   de	
   «	
  QG	
   de	
   la	
   finance	
   européenne	
   et	
   mondiale	
  »,	
   car	
   on	
   y	
   trouve	
   de	
  

nombreuses	
  banques	
  comme	
  la	
  Lloyds,	
  Goldman	
  Sachs	
  ou	
  HSBC.	
  
2) La	
  City	
  est	
  un	
  quartier	
  très	
  petit	
  («	
  Square	
  Mile	
  »)	
  mais	
  qui	
  commence	
  à	
  s’étendre	
  au	
  delà	
  de	
  ses	
  

traditionnelles	
   frontières	
   vers	
   d’autres	
   quartiers	
   de	
   Londres	
   :	
   Canary	
   Wharf,	
   Mayfair,	
   Inner	
  
Temple,	
  Middle	
  Temple.	
  Ces	
  quartiers	
  sont	
  très	
  denses.	
  

3) La	
  City	
  est	
  à	
   la	
   fois	
  un	
  poumon	
  économique	
  pour	
   le	
  RU	
  mais	
  aussi	
   son	
  «	
  talon	
  d’Achille	
  »	
   (l.	
  2,	
  
paragraphe	
   6),	
   car	
   l’économie	
   britannique	
   en	
   est	
   dépendante,	
   comme	
   d’une	
   rente.	
   En	
   cas	
   de	
  



	
  
crise,	
  comme	
  avec	
   le	
  Brexit,	
  cela	
  pourrait	
  avoir	
  des	
  conséquences	
  grave	
  pour	
  toute	
   l’économie	
  
britannique.	
  

4) La	
  City	
  fait	
  de	
  Londres	
  une	
  ville	
  mondiale,	
  car	
  les	
  entreprises	
  qui	
  y	
  sont	
  des	
  acteurs	
  de	
  l’économie	
  
mondiale	
  :	
  banques,	
  assurances,	
  FTN.	
  Son	
  personnel	
  est	
  donc	
  aussi	
  mondialisé	
  avec	
  plus	
  de	
  200	
  
nationalités.	
  	
  
>	
  On	
  peut	
   aussi	
   évoquer	
   tous	
   les	
   petits	
   travaux	
   liés	
   à	
   cette	
   économie	
   :	
  ménages,	
   restauration,	
  
travaux	
  publics,	
  qui	
  attirent	
  une	
  population	
  peu	
  qualifiée	
  et	
  souvent	
  immigrée.	
  

	
  
	
  
SUJET	
  4	
  	
  
	
  
1) Shanghai	
  est	
  une	
  ville	
  qui	
  se	
  développe	
  (l.	
  2,	
  paragraphe	
  2),	
  donc	
  qui	
  attire	
  des	
  populations	
  peu	
  

qualifiées	
  qui	
  viennent	
  notamment	
  de	
  la	
  campagne	
  (l.	
  4).	
  Cela	
  contribue	
  à	
  la	
  densification	
  de	
  la	
  
ville	
  et	
  notamment	
  des	
  quartiers	
  que	
  l’on	
  appelle	
  les	
  Lilongs.	
  Le	
  développement	
  de	
  Shanghai	
  est	
  
dû	
  à	
  sa	
  puissance	
  industrielle	
  et	
  à	
  son	
  ouverture	
  sur	
  le	
  monde.	
  	
  

2) Les	
  Lilongs	
  sont	
  des	
  espaces	
  denses	
  où	
  vivent	
  les	
  ouvriers	
  et	
  très	
  proches	
  du	
  quartier	
  d’affaire	
  de	
  
la	
  ville	
  nouvelle,	
  à	
  Pudong.	
  

3) Les	
  Lilongs	
  subissent	
   l’attractivité	
  grandissante	
  des	
  quartiers	
  proches	
  du	
  CBD	
  du	
  Pudong	
  et	
  qui	
  
densifient	
  encore	
  un	
  peu	
  plus	
  un	
  espace	
  déjà	
  saturé.	
  	
  

4) Dans	
   les	
   Lilongs	
   s’est	
   développée	
   une	
   vie	
   de	
   quartier	
   où	
   les	
   ouvriers	
   vivent	
   ensemble	
   en	
  
développement	
  un	
   lien	
   social,	
   tandis	
  que	
   les	
   tours	
  construites	
  à	
  côté	
  ou	
  à	
   leur	
  place	
   isolent	
   la	
  
population	
  et	
  ne	
  permettent	
  plus	
  cette	
  vie	
  de	
  quartier.	
  	
  

5) Shanghai	
   devient	
   une	
   ville-­‐monde,	
   connectée	
   et	
   qui	
   attire	
   une	
   population	
   de	
   plus	
   en	
   plus	
  
cosmopolite.	
  Le	
  centre-­‐ville	
  se	
  densifie,	
  repoussant	
  des	
  classes	
  défavorisées	
  aux	
  périphéries.	
  La	
  
ville,	
   attractive,	
   s’uniformise	
   pour	
   plaire	
   à	
   une	
   population	
   non	
   chinoise,	
   avec	
   l’apparition	
   de	
  
certaines	
  franchises	
  mondialisées	
  (McDonald’s,	
  Starbucks).	
  De	
   la	
  même	
  manière,	
   l’implantation	
  
d’un	
  Disneyland	
  en	
  périphérie	
  témoigne	
  de	
  la	
  volonté	
  d’ouvrir	
  la	
  Chine	
  et	
  sa	
  population	
  vers	
  une	
  
culture	
  mondiale	
  et	
  surtout	
  occidentale.	
  

>	
  Possibilité	
  de	
  comparer	
  avec	
  d’autres	
  villes	
  mondiales	
  (Paris,	
  New	
  York,	
  Londres).	
  	
  
>	
   Montrer	
   qu’avec	
   ses	
   réseaux,	
   Shanghai	
   fait	
   partie	
   de	
   ce	
   qu’on	
   appelle	
   l’Archipel	
   Métropolitain	
  
Mondial	
  est	
  un	
  plus.	
  
	
  
	
  


